> A
N & o & AF & H A A
20219 = S0l a LB AL
AN AL D
Y T2 AL
& HelstE2 Y EH| (&)
L=
SA - BB B () - MM - BES Ol &t o San HmEET
otM A &t 40,501,859 50,349, 885 A 9,848,026
= 13,107,479
s 2,176,000
= 1,845,501
s 23,372,879
EZ2AE2e 9,168,072 11,335,433 A2,167,361
s 2,176,000
< 45,000
[ia 6,947,072
Helste =224 &Hl 9,130,707 11,306,253 A2,175,546
s 2,176,000
= 45,000
s 6,909,707
Helgte = A F Y| 5,769,707 8,254,978 A2,485,271
101 @124l 10,731 78,021 A67,290
04 JIZtHZ22HEE = 10,731 14,819 A 4,088
QUSSXZA 12U ()
73,000 *2H %22 *21 4 & 6,132
QUESXZ A OF2AHES(ZU)
3,000 *2H x 1 »21JH A x1.5 4,599
201 et 166,366 187,383 A21,017
01 At 22l 24,730 31,350 A6,620
Otz & SHEEXN 7
25,0003 100 Ak =128 300
OEZEM 2 MMXE 7 70,0008 +33 210
Oz 2 o@ze I 2
250,000 2Kl E 500
OZ&a=r HiAHJl=a ¢ 70,0003 36 A 2,520
OZetZelgll AR (EHUHS)LA
250,000& »4 24 x4 3| 4,000
O= &l 11,000
— M4 £ SUH H&22I 34t
8,000& »9H +55& 3,960
—H&JI2t 2HAQIHF)S =4
8,000& x16H 552 7,040
Ozl Aog2g(fAaay)
70,0003 x5 #23| 700
Oz el oz (fIansyl)
40,0003 *5H +23| 400
OZ294 X7 U AQEDS
2,700,000& » 14 2,700
OE22+8 2 )28 SHxY= 2y
200,000& x12H 2,400
02 =24l 141,636 151,033 A9,397
03322 % HA(==2& UI4 HII2I)
135,000& =122 1,620




M AL
Y T2 AL
& HelstE2 Y EH| (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02223 % MA(LLA 2HAIE ML
=) 180,000& =128 2,160
03323 2 HAH(=2& UIIA &d4+E23)
27,0003 «12& 324
02223 % HMA(?2E 8sHY HIIR3)
600,000& »12& 7,200
03323 2 HMA(2H4Ez EZ& MIIL3)
350,000& =122 4,200
03323 ¥ HA(HSE>=2AMEX M3
) 360,000& 122 4,320
OStI(MEXE H= GPS)
19,000& »13CH~6 & 1,482
OSHI (NS AMEX)
55,0003 x4 A+ 12 2,640
OXSXA(=HEAX 2 30H)
65,0003 *4CH +23] 520
OBJIBE2(2ZTE3 061190362 30H)
900,000& =4 CH 3,600
OSIEE2 (2= 021190252 10H)
450,000& »2H 900
OXNsNEES(=HHE AKX 851028652 3CH)
1,400, 000& »4CH 5,600
OZMNERE S (AEEEZEY)
30,0003 »4CH +23] 240
OdZHI (=2 % UII&, SHEXH)
9203 «104 *80 +3CH 2,208
OdZHI(HHI & AXFT)
1,360& +54 »45 *4H 1,224
OHSH (MEE 2efarxdl)
1,2603 +350 27 «11CH 13,098
ORANE=H(HMEE ReaZI])
900,000 »11CH 9,900
OXteksergl (2 061290362 400)
5,000,000 =5CH 25,000
OXtee ety (2201 02119110)
14,000, 0002 = 1CH 14,000
OXtge ety (0IL 2 2D1) 7,500,000 = 1CH 7,500
OXtgMety (H X2 201) 3,600,000 «3CH 10,800
OEZLH® FAXYE 423
9,000,000 =1CH 9,000
OM&E 1dold &Y sXE=t|
350, 000& *62 «2CH 4,200
ONM&E & & |FAE=H
900,000& *11AMI E 9,900
202 odl 9,240 10,780 A 1,540
01 = LH YI 9,240 10,780 A 1,540
OZUoH (=222 H2FAN)
35,0003 x6H x4 113 9,240




AN AL D
Y T2 AL
& HelstE2 Y EH| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 115,000 130,000 A 15,000
01 M= 4l 115,000 130,000 A 15,000
OHEZE MEXM P (LILAS HELEF)
200& x75,0000H 15,000
ONS2E MEXUM 2 (g32S)
200,000& 190 38,000
OHEZE MEXMM FL(SIUHESE)
160,000& 200 32,000
OHEZE M& ML (FSZHESA)
150,000& 200 30,000
207 & 00 & H| 50,000 0 50,000
01 2284 50,000 0 50,000
OESASHYCH (2522 FCAAEILS
ZAES 50,000,000& =14 50,000
303 Z&= 5,760 7,200 A 1,440
01 Z2&= 5,760 7,200 A 1,440
OL2E+3 & SI2HF d&Atel HE
80,0003 x 11 +2& 1,760
OESNT2 To9 ASUEEA
4,000,000& %13 4,000
401 AIEHIZ 28I 5,412,610 7,641,594 A2,228,984
01 A& Bl 5,385,000 7,630,000 A2,245,000
OUHSIEUXIZEXNSAH(BZ)(SHLHEI)
5,000,000& =160m 800,000
OQASCZ2 LY ZAIZAHHI(S0F4=411)
200,000,000& =14 200,000
OS2 LY S ALZ &I (S0FHH3)
200,000,000& =14 200,000
OZZHUSHZE DAL IAN(BR)(S43 21
) 800,000,000& =14 800,000
ONUZCZSHIIIA(EEHZ)
1,500, 000& *200m 300,000
OBIHRCZHMALESHRSAH(EE S )
50,000,000& =14 50,000
OZHINESIA(ELZA2)
4,000,000& *25m 100,000
ONEER (553108 )HTH DAL AH (ZSAN
#2) 100,000, 000& * 14 100,000
ORFNCZ20HAZ RN LRI SAH(EL R
71,4283 x700m 50,000
OFSE20A2HAMN LI BAHAEES)
100, 000& *1,000m 100,000
ONHWE=BAH(AAEDH) 5,000,000 *20m 100,000
OBIESZ XY ZAN(SZ)(HEAIT)
2,500,000& *200m 500,000




orM 24 &t
S ZAIE e
HelstE 2 Y E| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OS2 T HSA(YES222)
888, 888 & *450m 400,000
OFNCEZHEZTM(ER)(YEST)
2,000,000& *150m 300,000
ONETZ2ESIZMN(ESHS2)
100, 000& *300m 30,000
OLSURCZE TS AH(YS2EH)
1,500, 000& *200m 300,000
OHMNCZEHEZHSAHA2H)
1,500, 000& *200m 300,000
ORETZMNUHELIAMA2EE)
500, 000& =100m 50,000
OEIZS0tAZIN LI BAH(ARE=1)
100, 000& *500m 50,000
OZ&EREXNTRASE (&)
150,000, 000& * 14! 150,000
OsHEZZAE N R2AS EHI(2UH)
100,000, 000& * 14! 100,000
OZELsHEZ2AH T MBAH(Z)
100,000, 000& * 14! 100,000
ORYAHEILUFELSA(ZU)
150,000, 000& * 14 150,000
OZELSHEZZ0SSANE A (2UH)
50,000,000& =14 50,000
OZELsHEZZALES 22 (2U)
50,000,000& =14 50,000
OZELsHEEZAIGZEH B2 (2UH)
30,000,000& =14 30,000
SELFERITEEY ETECTETE )
25,000,000& =14 25,000
02 Zeltl 17,850 0 17,850
Oz zetsEFnAFZalH
1,500,000,000& 1. 19% 17,850
03 AIE 2 THHI 9,760 11,594 N 1,834
OZELSHEZZ AL R LI
4,880,000, 000& x0.2% 9,760
PN R Rl ooy 90,000 251,275 A161,275
< 45,000
s 45,000
401 AIEHI L 20 90,000 251,275 A161,275
< 45,000
[ia 45,000
1T AIZHI 90,000 250,000 A 160,000
OZLZTZ20A2IM RIS AH(E L2 2H)
60,000& x1,500m 90,000
< 45,000
s 45,000
R b= ONE] 2,176,000 1,400,000 776,000




AN AL D
Y T2 AL
& HelstE2 Y EH| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
e 2,176,000
401 Al& I 28I 2,176,000 1,400,000 776,000
s 2,176,000
01 A& HI 2,168,195 1,400,000 768,195
OHANS(ZEE603 )22 It E LA (S
st R=21) 6,260,000 »100m 626,000
as 626,000
O=ESSFLHAHMEHMNELNH HBC2 &
ABA(EY ME2) 6,168, 780& *250m 1,542,195
s 1,542,195
03 A& SR THHI 7,805 0 7,805
OXSIHLRZA A& LY
2,168,000,000& *0.36% 7,805
as 7,805
HelstE 2 HY| (oIS 23 AH 1,095,000 0 1,095,000
401 Al& Bl & 28I 1,095,000 0 1,095,000
01 A& HI 1,095,000 0 1,095,000
ottg=s (2213 )l =ESRS A (AFLEE)
700,000& *50m 35,000
OZHIERA(R2E6S)HERSAM( AR
&3) 500,000& *30m 15,000
ORXHIMH(A=2E363 )+H=ERFSAH(AHEZHS
) 2,000,000& =15m 30,000
OF+2 (=303 )= 2SAHAEAA)
500,000& *40m 20,000
OFSAF(2lz201g8)rH=ERSAHAEFES)
1,000,000& *20m 20,000
On=2=(elz2062 )= AL ZRS)
800,000& *50m 40,000
OBOHA R (2208 )= S A (A ELET)
312,500 *80m 25,000
OQBroR2X (2 =208 )+ P SAH(MHEA L)
1,000,000& *50m 50,000
OSRANF(2z2048 )W E RS AHALSR)
400, 000& *250m 100,000
OZEXNF(2Z2048 )W E RS AHAELSR)
383,333 *300m 115,000
OZEME A (22045 )=HE RS AH(A LA T
2) 4,550,000& »100m 455,000
O28 0 (21Z2045 )+ EF S AL EZAI?)
30,000,000& =14 30,000
OEzldl(elz2028 )= S AHAELHEE2)
1,000,000& *20m 20,000




AN AL D
Y T2 AL
& HelstE2 Y EH| (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZLgXNF(elz201E )+l =SFSAHIHASH)
375,000& *80m 30,000
OMA (=23 )= AHMAE S2)
733,333& x150m 110,000
HERALEZ2 2R 22 37,365 29,180 8,185
§ERALEZ 2R 22 37,365 29,180 8,185
201 Let24d] 16,565 16,400 165
01 At 22l 16,565 16,400 165
O RgYcZ2X 2 8,375
—Eg2g 275,000 »23E X 6,325
—SIEE+=2 30,000& 452 1,350
—E2otEAEZ FAIXA
100,000 »7 A 700
OREANZSEX S22l usSHI Y
30,0003 543 «23| 3,240
OAzoIs 2+ Y 70,000 *9% *53] 3,150
OAEIIAH PVCIE & 228 P&
1,800,000& 1,800
202 044l 9,100 10,080 A 980
01 = LH o4 1l 9,100 10,080 A 980
OFETRABR S ALV AL
35,000 *5H 42 «133] 9,100
203 YR =& 2,700 2,700 0
03 A BFAH S =AY 2,700 2,700 0
O ALHEFA 2,700,000 2,700
405 XtatE SHI 9,000 0 9,000
01 XA = ZFH SHI 9,000 0 9,000
OHLIAHEZHETY 6,000,000 14! 6,000
OAHEIAHAMHTY 3,000,000& »14! 3,000
ot& & dl 19,859,373 24,157,110 AN4,297,737
= 8,842,000
< 500,000
[ia 10,517,373
Ene ] 9,163,245 4,420,199 4,743,046
= 1,000,000
< 500,000
[ia 7,663,245
A0 FHIALG (M &) 6,457,890 3,917,649 2,540,241
401 A& HIZ 201 8] 6,457,890 3,917,649 2,540,241
01 A& HI 6,445,000 3,911,000 2,534,000
O2HASHEEHIAMS (S EEal)
2,856,000, 000& 2,856,000




EXN: otE2AL D
N GIAEAH|
Sl AoHA (Eto: & d)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O AGIEZHIAMS (A 22H )
400,000,000 400,000
OEEAGIEZHIMS(ZELAHS)
1,589,000,000& 1,589,000
OXINA HAFS (M EZAEZE|)
1,000,000,000& 1,000,000
Ox=2 A5t ZHIAMSE (SO0rEX2l)
600,000,000& 600,000
03 AlE 201 | 12,890 6,649 6,241
OActEEEIAY Al 208
6,445,000, 000& *0.2% 12,890
AGIEZEHIAIE (=W EFR2AH) 855,355 0 855,355
1T AIEHIZ 2L 855,355 0 855,355
01 Al&H| 850,000 0 850,000
O[2AGIE (M) SHERZ2AH(Z23 A EH2Z|
) 500, 000& *120m 60,000
OUHWAEAE (EH)THERZAH(202F 12])
500,000& *70m 35,000
OZBNAGHHE (AT STHERZ2A(ZELAZ22
) 500, 000& *120m 60,000
OQIIZ2H (LB ZEM)THER2AM (AT LI EL)
1,000,000 *210m 210,000
QEMAE(FEMH)THERZAH(AEESE)
500, 000& *300m 150,000
OHlclAGHE (2 M )SHER2AH(AFE 2 A3
) 500,000 *50m 25,000
OWRAGHE(2HM)SHERZ2AH(AFE 2 A4
) 500, 000& *260m 130,000
QIZ2A (BHM)THERZ2AHAE=ZH4E])
500,000& *120m 60,000
OSINAGHE (S SHERZ2AH(SE ZAELIZ
) 500, 000& *240m 120,000
03 Al 201 Y| 5,355 0 5,355
Ozl RZ2AF AIE 2]
850,000, 000& *0.63% 5,355
A ZHIALS (RFHA TN R E X ) 1,850,000 0 1,850,000
= 1,000,000
o= 500,000
= 350,000
401 Al HI L 2 0HHI 1,850,000 0 1,850,000
= 1,000,000
=} 500,000
= 350,000
01 A& H| 1,850,000 0 1,850,000
=2 NAMHAE MR PRI AL (202 X))
1,850,000,000& 14! 1,850,000
= 1,000,000




S AL D
A GHEFH|
S ASHA (&9 &)
SHE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
[ 500,000
2 350,000
St& el 10,696,128 19,736,911 A9,040,783
= 7,842,000
2 2,854,128
ABHEEHI 2 A 1,663,128 3,083, 139 A 1,420,011
201 LBt 2,592 2,880 A 288
02 B22ZH] 2,592 2,880 A 288
022 IS8 MIIZ 54,0009+ Ax122 1,296
OREA IS8 HIE 54,0001 Ax128 648
OUAHE IS8 MIIZ2 54,0002 *10H Ax122 648
202 04l 4,536 5,040 A 504
01 2ol 4,536 5,040 A 504
Ostdzelg2Ea 31,5002 *3% 42 x 123 4,536
401 AlAHI 2 200 1,656,000 3,075,219 21,419,219
01 Al&H| 1,650,000 3,070,000 A 1,420,000
OFOIXNAGHE AL ZAH(ESR22])
500, 0002 *500m 250,000
ONELBIE™HI BAHE 2 422])
500, 0002 *700m 350,000
OSSAGIAEFH S AHESLAE12])
500, 0002 *300m 150,000
OEMASHHEEH 2AHADHR])
250, 0002 *400m 100,000
OLHAGIAFH S AH(E S A222])
500, 0002 *500m 250,000
OSIAGHEEH ZAHA2H0H2])
500, 0002 *300m 150,000
OMBHCHHIAGHE KX 22l
10,000,000 * 1000 & 100,000
OAGHHEIREZTH 2 XESHAHAY
20,000,000 * 1500 & 300,000
03 A& 20 H 6,000 5,219 781
OAGHAEHI 2 A 20|
1,000,000, 0002 *0. 6% 6,000
2HASTNEAS (HEAIY) 320,000 3,570,772 A3,250,772
308 XAXISHESO0I™ 320,000 0 320,000
07 XSRS 2 320,000 0 320,000
OUMEHE (252X 7)o THAH Ol ALY 2HI S &
2(20=2X) 2,000, 000,000 *16% 320,000
S HAEAY 8,713,000 13,083,000 A 4,370,000
=2 7,842,000
2 871,000
403 AR SRS KH=01 & 8,713,000 13,083,000 A 4,370,000




A A AA D
N GIAEAH|
CHe|: oftA 22 (2 &HH)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 7,842,000
= 871,000
02 ZI2SHUSA=2EAEAS Y 8,713,000 13,083,000 A 4,370,000
O=23Yd HEAG (=L HEal)
8,713,000, 000& 1Al 8,713,000
= 7,842,000
= 871,000
THoH Ol &t = 2 10,371,557 12,210,830 AN 1,839,273
= 4,262,532
== 1,293,895
= 4,815,130
Moo s XA 9,908,869 11,717,529 A 1,808,660
= 4,230,000
= 1,231,500
= 4,447,369
PNRDN R =N ES i 5,495,490 7,414,060 A 1,918,570
= 2,745,000
= 823,500
= 1,926,990
1T AIEHI YL 20| 5,495,490 7,414,060 N 1,918,570
= 2,745,000
= 823,500
= 1,926,990
01 Al&H| 5,490,000 7,400,000 A1,910,000
OLEXNHATHHAE N K R HHIAMS (ARSI S3
2l) 1,600,000,000& =14 1,600,000
= 800,000
[ 240,000
= 560,000
OHISHHATHHAE N K R HUIAMS(AMEA2
2l) 300,000,000& » 14! 300,000
= 150,000
== 45,000
= 105,000
OZERATMAAE MK PRI M (MBS
2l) 1,990,000, 000 =14 1,990,000
= 995,000
= 298,500
= 696,500
SE2TNAMHAE MM X REHAIG (BSE=2
2l) 1,600,000,000& =14 1,600,000
= 800,000
= 240,000
= 560,000
03 A& 2 0HH| 5,490 14,060 A8,570
OXNHATHHAE NS X2 EHl AIEE20H]
5,490,000,000& *0. 1% 5,490
ANSeEHAH2 XS 10,000 13,333 AN 3,333
== 3,000




SA: QEALY
Y gL =R
e Moo EL=ERIH (&t
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 7,000
201 LBt Y| 4,000 2,200 1,800
&< 1,200
= 2,800
01 AP 22| d| 1,200 1,200 0
ONSATEYME HSH+EHH
12,000 = 1004 1,200
& 360
= 840
03 A2 H H| 2,800 1,000 1,800
OX&EXNsS Mt = 2,800,000& *13] 2,800
< 840
= 1,960
301 et M= 5,800 10,933 AN5,133
= 1,740
= 4,060
09 #HAIAHI XIS 2 4,000 8,933 AN 4,933
ONATSYME HSIAY|
8,000& x125Y x4 3| 4,000
= 1,200
= 2,800
12 JIEtE & =2 1,800 2,000 A 200
OXEXsS M 23 F¢
25,000& »72H 1,800
= 540
= 1,260
307 212t0| & 200 200
= 60
= 140
06 22 200 200 0
OXNEXNS UMM AHEESE I
200,000 =14l 200
& 60
= 140
ZriEESY 8,000 10,000 A2,000
= 4,000
= 4,000
307 QI2t0| & 8,000 10,000 A 2,000
= 4,000
= 4,000
02 QI2tAMAIE E X 8,000 10,000 A 2,000
OZEL+NE2SAIS (T 24) 7,000,000 14! 7,000
& 3,500
= 3,500
OZSL2E A (Aaz0l1) 1,000,000 14! 1,000
o= 500
= 500
_ 10 _




AN ALY
al

M Moo=+
el Holog=s2XH (&)
SA - BB B () - MM - BES Ol &t o San HmEET
XH o 01 & 1,256,309 1,595,586 N 339,277
101 @14 Hl 1,675 1,650 25
04 JIZHHZ2XNEE S 1,675 1,650 25
m=Xl2tel 2HI01 8
69,7603 *4H x32 +23| 1,675
201 Let249] 76,884 85,316 28,432
01 At 22/l 23,094 25,660 A 2,566
OMoidetHIt 5 doARIAs HAxE
70,0003 #27H +33| 5,670
OTHoHCHZ E20HAHI 8,0003 x6H x162 7,776
OXHAIHL EEHS MW=L ME
19,800& 1005 1,980
ORAMHZEMN L SRHALY NE HE
20,0003 455 900
OYMAST W= A= 8,000& +x90% 720
Oxaioeg =2 cl2x M=
200 *2,70000 x4 & 2,160
OMaiueg =2 =9 M= 66,0002 = 180H 1,188
OMLtaratal 2etZeld EWItECIX 7¢
300,000& x 124 *93| 2,700
02 =224l 53,790 59,656 A5,866
Ost=¢TEal sl 1,000, 000& 12l 1,000
ONSSHEEANLAE M3
8,100 750 128 7,290
OfI&HSI MHERZ 40,5003 «6CH 123 2,916
OMo2=E CCTV #IIR3
65,6953 x21CH x12& 16,556
O 2=& CCTV SRS
54,0003 x21CH 123 13,608
OXNSREIENE SRS
9,000 *41CH+123 4,428
OMLtaratal oI ez 27,000 =20 122 648
OMoidZE SAR= 27,0003 «1CH+123 324
OPen-bizZ XS EMEIA 2F 540,000& «12& 6,480
OXNEINEEAHEZEI &I & SRS
45,0003« 12& 540
202 o4dl 7,560 8,400 A 840
01 = LH o4 1l 7,560 8,400 A B840
OTHol Ol & & R=&l 35,0003 x6H 32 «123] 7,560
206 = Hl 22,400 25,000 A 2,600
01 =8l 22,400 25,000 A 2,600
O=gXMH- 22,400
— OFZTH A otN M 45,000& x1002 4,500
—=As+=40tH 4,400 =1,0000H 4,400

_11_




SN GEALD
HE: Haoze =
Sl WU Y RS TX

% S 4 14
SN HE B (BH) - MR - BES e bl D=2t
—g32S(0IHEZHAHM) 180,000% «75& 13,500
301 LA S 450 500 A 50
09 HALAHIX &S 450 500 A 50
OZxoi28 &olEII nsE&HH
90,0003 x5H x13] 450
302 OI=LTHOHE & = 150,000 150,000 0
02 QIZHITHOH R EFR &S 2L S 150,000 150,000 0
OMSTHA TIoHAIE BA(HHXES)
150,000, 000& * 14! 150,000
307 glz2+ol & 26,910 26,910 0
06 232 26,910 26,910 0
O0tSH&E ESH XM diE2E
130, 000& »207CH 26,910
401 Al I 28I 963,430 1,297,810 A 334,380
01 A& HI 960,000 1,292,000 A 332,000
ON2xtsSs2AATHMH ML ESEHESHEL
300,000,000 =14l 300,000
ONtdol P THAH A AL EHHIZM (S EE22]
) 240,000 *250m 60,000
OXZSMHASEAEHHIBAH(E0F=2112])
500,000 *100m 50,000
OnL-=THAEANEHU SAH(EE LK)
500,000 *120m 60,000
OSAZSM A& AL EHE S AH(ELEAL])
1,200,000& *50m 60,000
OSLMHAEAEHUSA(AIZRC)
500,000 *120m 60,000
O AE B SAH(AEZAEL22])
500,000 *100m 50,000
OANZSMHH AR AL ZHEI S A A SH2])
625,000& *80m 50,000
ODIHNZSMo &AL FHEI S AH(ESES22])
500,000& *100m 50,000
OMX S A& AL FHHI S AHA2t=12])
500,000 =100m 50,000
OMaiIEAE SS=72H(100HSE)
20,000,000 *5H 2 100,000
OZgUE &==x &I 500,000 *2)H A +20 20,000
OXN&INEEAZI SRR 2e
50,000,000 =14l 50,000
03 Al S THHI 3,430 5,810 A 2,380
OMoHAEAIE ZHISA R0
490,000,000 *0.7/100 3,430
405 TtHabF S| 7,000 0 7,000
01 AL EFHSHI 7,000 0 7,000




AN ALY
al

M oo =+7
Sl WU Y RS TX (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oo=&J 7¢ 7,000,000 *1CH 7,000
SZEMASAE XS FHI 1,301,690 1,403,640 A 101,950
2 650,000
< 195,000
[ 456,690
401 Al HIZ 2018 1,301,690 1,403,640 A 101,950
= 650,000
< 195,000
e 456,690
01 A& HI 1,300,000 1,400,000 100,000
OEL1 SZAX SUAEXNSE HUIAS (S3t
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